Tutorial IV
12:00

L} ngl 4.(( '(WL"‘\J';\M

N Yc\o\; WA -mhx ’(frt'"iqm Lv P»ov[no lowe/ Lﬂwdj

LAtad - RARK :k?-’?i

Ao - E,?VOIS
@ @ () MA ~of CLM'IO{WV'
AN W “eu lfc.vq) 0\22
?\M\

osm,ms»oﬂo E— INPUT

a gh 0‘( Vol ‘1
10. A3 0 *
0' "';"3 T 2 :(,

— €
Eodh ke onduing G value,
Coach #in modd  coutaing Ha guaflegd value of all ;f's childve
Cach M node  conbing dhe bvaeyd ualue of all is’s cliloties,
Gocl 15 b e He valng of He voot,

T

4
£ ~ Ll‘nava 4%@?} w“‘-\t iw?u“ X Q s-}»y",‘b ?9’ 43

Deltvmiminhic G'jowham Dertin- 4oy 4 lel? *v:atf'

AR 4 o 3
AN, AR

Randomized algorithms Page 1



Rernston toul 0"30»;4'4#.
Ovelev of ildan evalnahion 1§ vanes mi&e).

i\ A d \/(5
@ v
P UGS &

e Llly‘ = Levale hiony 3/2 (whal—.'w) Teabandian 2@«&&47'«.4
L = A Quleahon

AV(VﬁsQ = 3/aew.lua"iw‘>

a7 1 A ¢
g
Vand }/Z /L 1 Z
lrddackion £~
4
A ) N }%‘
s,z { S/z 2Q

Lo A Ligd + tvaluwete Je ooy ove

(({4/ (3/ 42%_)

s Me(2)
7N ”) A




GGG

&) <4-€@) «1.€( Ao)
Ove vall o\vcvwsq 4 3

T.m_ foey  less taan 32 leaves o ac lnate

Ow o\u-!vm)’_

T-H. Tena biey, U foawmbncte

ety e T

SR e s e T

i
e
ﬁ:ﬂi.:i:-:-:a:-._'::- e
N

Ragiee i
-, [0 (-1 1
o 1 Q < ~ Gﬁ"{ e brafion Mq-'v.'x

«N'.« e

A,
o

. < . (’0 :cﬁf’ﬁ:"%m!: S
D F"(e ) Hlﬁa v:‘-’%ﬁ%‘%hc
"“"C Oh'l onp

P DA > bS ighegin, b B
g-lwl-uyg A ‘6

~ N {ie owdcqme

(7(“&\4"“"0 'I’L\:A h“*"‘ 25 [ﬂ.dx J( veal ““““S&Q H"

‘t-‘- Mice Moo  Shutay, {-n i e woult cuse

algorithms Page 3



\d- Ai e C\dOoSO_\ Siva.#(ba éQ i e worlt e

l’\l win n."
s apis i -

What 1o Moy best chorce? Mo Wi M'd fOﬂ
! Y

What s Dby beg! (hoice ) mi" W{x h;\i - Ob

Thve o cbc.m&S, fov wL.‘c"\ OA"O_Q

0O ~1 -1 0, ©
1 Q -1 0‘11 )
= 1 " [B)

nixey S‘wakvst

v
Al = wobehilih Asvbabion on wes P
vec{ang

BL = mbailhy ishibuban o Gles g T g iy,
a

?‘!’ Mc\ - T:Z “p.\ q‘. h;i = l:(ww‘)c valu e ofc.:)w
R Lith it el o
P Cud ol'



lov (ixeot SMktm o fice ®, e iy ﬁumm‘ud

t* 0)& ot teagt i P-rnﬁ ooty
9
Yx

Alices Lest 541,,4% i( wax min ]

[

T
BO‘O\S best S/w«leaa (§ w"i"‘ h’P“Y ?nﬁ

‘\!ov‘\ N?u 'W-Mn‘s ‘“‘M

Mma x WNin
P4 “op
=

Ny -:-*-'-:-

Lams e
s AT o A ’q) HQI beemrreRe | el B e &Za ﬂ? ‘
Bt TR
?s.hm
[ O)
\/"l\o‘{ QI
Prodk,

]lor k‘(d '\3 ‘FML' ;S Q L\nc‘ﬁym “Mo\v im G",,,.,qh
" Scalrs vawjohley
/

'Plh,‘i 0\1‘4 0,1?1+ S ?h
% “Llf %9 3 /]



C;wd Collel o (wloo) o‘k)

PAN in 15 ohuiusd Ly E (0.4 0)

‘MN'M
s
; \C(:..L\.\ R
\

|

E[C(I\’l Ac\)} - Cx?eckd ‘{mmiwal'imt GY (‘4?1«4 da‘f}vi‘)u-/v'oq
P oo veud- ““\\0\"%*1(?00{#(0! Lta q.

V wamuw‘; ‘“"W\ .
E(CEA)) = win wer E(((3,0)

Max win
h)
!

P Q 4

Loown's Fhw:



o win E(C(ZpM) /w/mx E(c(3,4))

(e
® AeR
‘,LQ g ""'(‘“‘Nf: é’f = "_ 1 Ry
i I S—

e E[C(3) |

@IO\ AQGR iQI
—
\Je haed "\‘o XW\OA G\‘Hvigﬂkoh
on the iuqm‘f Vhich b o ophna |

Aekev minishe 0\(430»4:'/“!”', with ‘W‘W”d‘b ]§ '4"31" G PO.H'/'UQ,

|W‘NJ by hee Cwlmodian is qlwc..as 0

ov “‘mbj all vectol

What is  He optimal dled, alﬁon'#tm'

O/% AN
0 0 9 L) A

Qa




) (Cvd\) :(Wo'zS)m((Uozq)
\c\v n



